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A | 300x 300 300 300 480 50 60 60 388 50

300x 400 V300x 300- —— — —— —— —— —— ——  ——  ——  —— — 306
B | 300x 400 300 400 540 50 65 65 396 50
A | 300x 400 300 400 540 50 65 65 396 50

V400x 400 V300x 400~ + — —— —— —— —— —— —— —— —— — 35
B 400% 400 400 400 640 50 65 65 496 50
A 400% 400 400 400 640 50 65 65 496 50

450x 450 V400x 400~ — — —— —— —— —— —— —— —— —— — 423
B 450% 450 450 450 720 55 70 70 553 60
A 450% 450 450 450 720 55 70 70 553 60

V500x 500 V450x 45— — — —|/— @—— @—— ——  —— —— T T ] 481
B 500% 500 500 500 800 60 70 70 601 60
A 500% 500 500 500 800 60 70 70 601 60

600x 600 V500% 500~ —— — —— —f— —f— —— —— —— —— —— — 805
B 600%x 600 600 600 960 70 80 80 715 100




